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Set Id : 47056_69

09Aug18 Batch4 DE
Section 1 - Paperl-General English

1) Choose the right option to fill the blank:
We have been studying 5am.

A) to

e Techofworld.In

D) since

2) Choose the right option to fill the blank:
The President and the Prime Minister
the city.

visiting
A) are

B) will

C) was

D)is

3) Choose the correct answer:

The strong of jasmine

her
running out of the room.

A) sent, cent

B) sent, scent
C) scent, sent
D) scent, cent

4) Choose the right option to fill the blank:
They are waiting the playground.

A) at
B) into
C)in
D) on

5) Choose the right option to fill the blank:

| went to meet my friend, but his mother informed me that
he out.

A) gone

B) had went
C) went

D) will go
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Section 2 - Paperl-Education and General Awareness

Techofworld.In

6) Which of the following is also called Plurality system of
voting?
A) Mixed Member Proportional system

)
B) Proportional representation system
C) First Past the Post system

)

D) Jefferson method of Apportionment

6) FARYS AR 6260 NGINA ZRE! UGS 6RIR 71 QRIAIN
?

A) fge aeay angaiee 9ad
B) aqigaive godue aed
C) oiq aq @ saia daq
D) IreQq @ JeIee 986

7) As per Section 243C of the Indian Constitution all the
seats in a Panchayat shall be filled by persons chosen by

A) the local self-government of the state

B) the block development organization of the
constituencies in the Panchayat area

C) the district officer in the Panchayat area

D) the direct election from territorial constituencies in
the Panchayat area

7) AUQSIY QALY QI 243C QI QEINGER ANS AR
NIG 69R Jadl 629 IFIG F9 AR A&

A) QIGYe AR QI FIA!
B) agi0e 2860 RAE0NISRIR 0181 QRAe A8l 9l
C) a0 2500 68 2YRINS FIal

D) az196 2566a 916939 FRPRM8R16a geis A9Iee gIal

8) The National Digital Library of India (NDL India) is pilot
project to develop a framework of virtual repository of
learning resources with a single-window search facility in
India. It is being developed at:

A) Indian Institute of Technology, Bombay
B) Indian Institute of Technology, Indore

Join Us-

C) Indian Institute of Technology, Kharagpur
D) Indian Institute of Technology, Kanpur

8) QUIGAIR BHTIM MRS AT Q& (EGIR R82I) 6298
QI006Q YaR AVIBE AR QG A8G §94 AQRGEIR GgeIN

G60IF6010 677188 IS @Al JIQ 9@ ARRY geE | 9l
6020160 Y080 62108 ?

A) Q8219 A9EHIQ ST 6TRERIERIE, 967

B) @821 @84 Bt 65RERIERIF, RERIN
C) ad21q 99894Q AT 66R6RIENIE, Heaga
D) @d21q 90894a 2T 6996RI6RIE, QIFYa

9) Which of the following chemicals is commonly used for
disinfection of water?

A) Hydrogen sulphide
B) Mercury

C) Cadmium

D) Chlorine

9) GORge MUQ 6@ AAAGR UET AUNET e
FIRNGAIIR VIES NMLLE §4 ?

A) 2IR6GI6E] ANTING
B) aee

C) qiediag

D) sqaiq

10) Identify the statutory body for Central and State
Governments on all matters pertaining to teacher
education which came into existence in 1995.

A) CBSE
B) AICTE
C) NAS

D) NCTE
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10) faee 91 908G AAg S9a AR 1995 6 ZIAR 62IRESI
65 6 QI AT CFUFR AGAURTY 90 Q0 |

A) CBSE
B) AICTE
C) NAS

D) NCTE

11) Which of the following recommendations is
CORRECT with respect to Sargent Committee Report
19447

A) There should be only one teacher for every 30
students in a elementary school

B) English language should not be the medium of
instruction in the schools

C) The basic aim of the school education should be to
impart social experience to the students

D) The children in the age group of 6 to 14 must be
given free and compulsory education

11) A06RE KFC G6aIE 1944 2gAIRN FYAYE 676 JAIRAT
A0q &ee ?

A) 615 glafie YRea 30 RIZRIPIE I 6R9R §66 9QR
QEQ 288
B) qarieeea @°aie I8 AQIaiea Fkif 6291 984 g6%

C) giIgaIgineg ANEe 2gee 9aIe IR JAIR 6ARa Ay
6201 A5Q

D) 6 9 14 @8Q TRAIRG AIGEI G QRISIKRS S8 AT

12) The Governor-General-in Council appointed a
“General Committee of Public Instruction” in India in the
year:

12) QUESE 609 Q¥ C0dA-6R6RARN-AR FRAAIR 1@
“CRERAIRN @FIT AT AGR AeAgR” 7S |Gg6R?

A) 1823
B) 1832
C) 1813
D) 1833

13) Which of the following options is an advisory body that
has been entrusted with the responsibilities of prescribing
standards and curricula for craftsmen training, advising
the Government on the overall policy and programs,
conducting All India Trade Tests and awarding National
Trade Certificates?

A) National Council for Vocational Training (NCVT)
B) Indian Certificate of Secondary Education (ICSE)

C) Council For The Indian School Certificate
Examinations (CISCE)

D) Central Board of Secondary Education (CBSE)

13) FERYO AR 6@65 AUCTF AR IR S@F 6T QI
QTR 663° AR AR} B ACINAF! YUIRA AGQI AR QAT
Q@9 A0 ANTR QU6R FAF 8 FITIFE AUER AARIQT AQIFE
@49, ARG 66 658 F6Q B MIAFIR 667 ATTER] IR
@ex ?

A) QUIARIR FIGETR T CRICRARIR 695° (NRTRT)
B) adziq Qifdeas 2 626a91a1 Ig6ad] (AR3NAR)

C) areada o6 @ @321 o ASTeRe IeaIdenaq
(QEIRaadq)

D) 6agin 6916 2t 6Q6aaIR1 Ig6adq (TILR)

14) Meningitis is an infection that affects the delicate
membranes which covers

A) brain and spinal cord
B) kidney

C) liver and spleen

D) lungs
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14) 139 TR1Q IR 6208 9@ A°GAE Kiel I SRIGYEF] IRIFe
@60, 92 TRIYPR 60L0Y 6AIFIR QYN :

A) 139 9 997l /I8
B) g=

C) ag% 6 Qi@

D) gagq
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Section 3 - Paperl-Reasoning

[echofworld.In

15) There are 5 numbers whose average is 20. Average
of first three numbers is 15 and the average of last three
numbers is 24. The middle number is

A) 18
B) 20
C) 17
D) 19

16) 5 @ @3y 2F A9IQ LR 62@8 20 | gaIe 68 aeeMIq
QIR 6208 15 I&° 648 BF WA FATE 628 24 |
CRISEN A°HIT P4 26T

A) 18
B) 20
C) 17
D) 19

16) Neha walks 8 m towards north. She turns to her right
and walks 6 m more. The shortest distance to reach the
initial position from that point is

A) 10 m
B) 6 m
C) 8m
D) 14 m

16) 6521 @@ G968 8 M CIReM | 64 GIFQ BILIEG 9N 2R 6
m GI6R | 6QF AIRQ 7R FIGNIES A2EQIQ AYQ F¢| §AG! 6Q6T
62Q

A) 10 m
B) 6 m
C)am
D)14m

17) If AUSTRIA is coded as AUSGIRZ, then DESTRQY
will be coded as

A) DESGILB

B) DESGIMB
C) DESGILC
D) DESGIMC

17) 9G AUSTRIA @ AUSGIRZ QI6Q 6R1Q 99 @QIQI0E8, 6069
DESTROY g @00 6912 99 @oUde

A) DESGILB
B) DESGIMB
C) DESGILC
D) DESGIMC

18) What is the next number of the given series?
83, 88,79, 84,75, 7

A) 79
B) 77
C) 71
D) 80

18) goQ G168 2 AHIGF Q0RE! LT A8 629 ?
83,88,79,84,75,7

A) 79
B) 77
C)71
D) 80

19) First two words are related in a certain way. Similarly
3rd and 4th are also related. Find the 4th word from the
given alternatives.

Plough : Farmer :: Needle : ?

A) Agriculture
B) Tailor

C) Hammer
D) Thread
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19) Q2N GRG 98 IR H4Q 698 AT 26T | AGRU QIR NG
g° %8 I ARG AGT | 99a IR IQ ¥ I9T @d 999 |
R QIR:H :?

A) oI

B) ¢a@1 T
C) Q196 (

D) gol

200a:b=7:2andb:c=1:10,thevalueofa:b:cis

A) 7 :
B[
C)8:
D) 8:

L 20
- 10
w20
10

~ = NN

20)a:b

7:249Q°b:c=1:106w69a:b:c¢miexee

A)7:2:20
B)7:2:10
C)g:1:20
D)8:7:10
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Section 4 - Paperl-Teaching Aptitude

21) One may associate the famous bobo doll experiment

. ‘ 23) QIB1R MRIARR TV 6AIGHSI 6TAAIR(NVEQF) Q121 9Ial
with a form of learning called 2162 62108 ?
A) intellectual learning A) AICTE
B) emotional learnin
iepalional.eaming B) SSCs
C) cognitive learning
D) observation learning C) NCVT
D) DGET
21) SR91Q 92 998 299l "6RI6QI SN IFUAAEL6Q F68 @9 ke, W
YD 621RARR ? 24) The teacher can ask bright students to help the weak
students in their studies. This method is called
A) 6Q1ER aa6
B) o A) Practical approach
SlieTawcs B) Experimental tutoring
C) mie 494

C) Buddy approach

D) agysesé d84 D) Peer tutoring

22) Learning may be defined as 24) 99K YRR QWIIF I QISR QIRIKY KA IR 671191

Quighy @2aIfee | 12 985q @8 QRIAIN ?
A) new change in personality
B) life

C) a permanent change in behaviour
D) maturation

A) gsaidie gaia
B) gieciGia dvel
C) &g qReaid

D) &g qial dael
22) AR41g @A YIS *AUAIRLIRS ?

A) a1easa qo8 Bede 25) Which of the following is NOT one of the purposes of

education proposed by John Dewey?
B) g1eq
C) 2190469 Q91 95w g; ;he_orly ?:q prRchee
_ ocial efmciency
D) cGiaes!

C) Education is life
D) Education is efficiency

23) National Vocational Education Qualification
Framework (NVEQF) was launched by

25) 81 AT 2gAIS FIRYS FUIQ 696 AR IR AETEY Q6T

A) AICTE ¢

B) SSCs A) deig 6 Zeyid
C) NCVT

D) DGET

B) aiqi@e ¢ao!
C) &%l 6208 a19a
D) g1 6208 @99
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26) "A complete and generous education that which fits a
man to perform skillfully, justly, and magnanimously all the
offices, both private and public, of peace and war" said by
A) Milton

B) Rabelais

C) John Amos Comenius

D) Leucippus

26) "A°gd 6 QQIQ FAI AL NEAG YIRIYR, ML’ B
QIARE G671 QBB V6D B AW AN ATUER U FANG
QAR QA2 |" @4 RFeeM -

A) fmeq

B) caceniaq

C) e a1ng [ea@aq
D) fedagq

27) In a class that has a lot of disturbance from outside
the teacher should

A) make use of buffering/soundproofing in the class
B) scold the students for not concentrating

C) make students do silent reading excessively

D) ask students to do only projects

27) 6515 6841160 AP QITIFTE QR 6T6M JVR K6 KL
?

A) 696160 YFEAIRIK/ARVYT Q4L K6
B) a6 6ea6eQ1g BIGRISINIGT QIR 606a
C) g1gaIgInIeg 2599 19961 9§91g 9869
D) 2IgRIgInIng 69w 69I6e] 20QIg @F6Q

28) A gifted child can be helped by providing him extra

information when compared to the rest of the class. This
technique is called

A) reward

B) scholarship
C) enrichment
D) assistance

Join Us-

28) @64 gEAIRIR ST 696160 AMAINE FRAIER YR
geql geIeea AIFI QAUAINAITS | 9F 6@ARg 96 GRIAN ?

A) geaia
B) srig@
C) ag@aad
D) aaiae!

29) At which of the following stages the specific learning
difficulties are easily identifiable?

A) High school stage

B) Higher Secondary stage
C) Elementary stage

D) Middle school stage

29) FARYE 699 906a Gad JT ANAIGER A6 T2
caIRAINN ?

A) @9 FQuIRe 396a
B) ag arifie aasa
C) giedia gqsa

D) arigaia SayIng,

30) According to the National Knowledge Commission,
the main focus now is on

A) Vocational Development
B) Skill development

C) Holistic Development

D) Emotional Development

30) IG1A RIS AICAIG AFLAI, SRR Y QRERIGT Q¢ 2657

A) QUeIde GRI4
B) amel Gaid

C) arge Gaid
D) aieeda Gaid
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Section 5 - Paperll-Odia Language

37) 3919 €@ 6Qd FRaRQ IR ?

o e Techofw

33) 6REG ‘@FY’A QKR AP A9 ?

A) Qr)9
B) @@1
C) calaal
D) 6919

34) PRUr dv PIRIg Q¥ ?

A) 696 996 NPQA ARTIAL |
B) 69Q 1@ @Y ARQE

C) 698 42 YIR¢ AL

D) 694 4@ AP A

35) ‘ARQAIQ QRIS O’ QAT @' Q&N ?

A) @8 @ @4 9 9@ Qal *EQI

B) QIQICT RAIEQ R 918 G
C) QER6a QIf 1A @G

D) @82a @Kl Q&R
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36) PUIQ QIP 660 geIasa a8 ?

A) @@
B) &l

C) eq
D) cig

37) ‘Gorg’ 99Q 77 QU6 ANAAAS1 A ?

A) SRR
B) falea
C) @R
D) QQiFaa

38) FaIQe F6auY 9W6Q FY) 6REC YYD ?

) QUS
) 949
C) @I
D) @€

A

@

39) RERE’ 49Q QO FA6l 6RIRE ?

A) |iQ + 21§
B) |I@ + &K + @

C) |l + 4&
D) |!Ia + a4

40) ‘F’ Q 6FlRR Q8 6RUT ?

A) ARNIFTS a2ea §aol

C) akaIge a2ea UL

)
B) §aQ1e 226Q Al
)
D) 22217 49Q 96aIQ
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41) Q6aaY 9L AEQR QUIRe J6caadag @'a Qelar ?

A) e FEHVE
B) @4l Geaad

C) Jeaala Jcaua T e C h O fW

D) Ge8N4Q G6auE

42) ‘QRAIR’ AQER ERQ G MRP ?

s » -
43) @RIET 62 cea aeq aaEs ?

A) @Ield &
B) ASIQU€1
C) @IFa1
D) @l

44) 9%’ 4Q 6RE 9OUNcAINcR 9§ CRIRF ?
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Section 6 - Paperll-Mathematics

48) The value of x which satisfies (2x/3) -1 =5 s

A) 6
B) 9
C)7
D)8

46) (2x/3) - 1 = 5 q Q2IE gGUIRR SQEUS! X Q A 6R6S ?

A) 6
B) g
C)7
D)s

47) HCF of 220 and 55 is

A) 55
B) 11
C) 110
D) 210

47) 220 8 55Q ©1.91.5 6208

A) 55
B) 11
C) 110
D) 210

48) 12/16 =
A) 25%
B) 75%

C) 10.5%
D) 3.4%

48) 12/16 =

A) 25%

B) 75%
C) 105%
D) 3.4%

49) If HCF and LCM of two numbers are respectively 12
and 48, then product of the numbers is

A) 96
B) 576
C) 60
D) 288

49) A% Qa6 QIR 6.91.9 8 A.QL.G QAFEN 12 @ 48, 6669
99 AR YITR 6298

A) 96
B) 576
C) 60
D) 288

50) Reciprocal ratio of 6:7 is

A) 6:13
B) 6:7
C) 13:7
D) 7:6

50) 6:7 @ gPemIA 2I9AIe 628F

A) 6:13
B) 6:7
C) 137
D) 7:6

51) The square root of 2.89 is

A) 1.07
B) 1.7
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C)0.17
D) 17

51) 2.89 @ QGiFR 6208

A) 1.07
B) 1.7
C)0.17
D) 17

52) 8% of the apples in a bag of 25 apples are rotten. How
many apples are good?

A) 8
B) 23
C) 24
D)2

52) 25G 6299l QUI6R 8% 69a ITIIRE | 6069 62264
6R6GIT am 62AR 2T ?

A) 8
B) 23
C) 24
D)2

53) The smallest four digit perfect square is

A) 1224
B) 1000
C) 1024
D) 1331

53) oIGas 898 99 gd edow 62ad

A) 1224
B) 1000
C) 1024
D) 1331

Join Us-

54) Number of lines passing through 3 points

A) is four

B) is infinitely many
C) is always one

D) cannot be two

54) GAGC 39 690 6R60IT AR 6Q¢ AIRUIFS ?

A) Q6§
B

)
) &1Q°gy
)
)

C) ageen 641G
D) ga& 621Raae QIF

55) Two sets having same number of elements (elements
may be different) are called

A) Same

B) Singleton
C) Equivalent
D) Equal

55) @@t 649 6Q QAL AR QUIRIF (RIS R 62IRAIQT)
%6, FIRIG GRIAN

56) The pair of equations given by 2x + 3y = 5 and 4x +
By =7 yields

A
B
C
D

Infinitely many solutions
Pair of solutions

Unique solution

No solution

56) Q2ILIRES! 9E 995 AA1RQE 2x + 3y =58 4x + By =7 Q
6Q6E QARG QIITaN ?
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A) aeay AaRIe
B) aqie 6aia!
C) 2@k aaie

D) @8 QaIg g6

57) If two supplementary angles are equal then each
measures

A) 90°
B) 180°
C) 45°
D) 65°

57) 9 9AG 9RYQQ 6Q18 AAIR, 666S AT MY 62QE

A) 90°
B) 180°
C) 45°
D) 65°

58) A quadrilateral ABCD circumscribes a circle. The
length of the sides AB, BC and CD are 3cm, 4 cm and 5
cm respectively. Length of the side AD is

A) 5cm
B) 3cm
C)4cm
D)6 cm

58) 9@ ABCD 99§9g M5 916iesa 6515 98 9@8 | AB, BC
@ CD QIgQ 6764 Qa1ged 3 cm, 4 cm 68 5 cm | AD QIgQ
6744 6960 ?

A) 5cm
B)3cm
C)4cm
D) 6 cm

IRt R R T i i b it

59) If (x2 + 6y2):xy = 5:1, then x:y is

A) 1:3
B) 2:3
C) 2:1
D) 3:2

59) @@ (x2 + 6y2):xy =51, 696 Xy 6298

A) 1:3
B) 2:3
C)2:1
D) 32

60) The number of proper subsets of the set with
cardinality 3 is

A) 8
B) 7
C)6
D) 3

60) QIFRING 3 &]I 6A] @ YU AVEAF A 629F

A) 8
B) 7
C)6
D)3



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Section 7 - Paperll-Social Science

61) Which of the following terms in the Preamble of the
Indian Constitution implies that our country is not guided
by any one religion or any religious considerations?

A) Secularism

B) Sovereignty

C) Fraternity

D) Socialism

61) QUASTR ARG JBIRAIER 64 FR 12 YOI 64 ZIAQ
604 6q16d §F A9l AR 2RI TRl OFFIRT g6e ?

A) 3¢l Fsasol
B) aidewlag
C) gige

D) aqieie

62) The Battle of Haldighati was fought between the
Mughal ruler Akbar and the Rajput king:

A) Prithvi Raj Chauhan

B) Maharana Pratap Singh
C) Rana Jai Singh

D) Rana Ratan Singh

62) 2RAAIT Y8 CAIGR AT LKA 99° 608 AUFYS AT
F1I6Q 6LRERI 6 :

A) Q2N QIR 6512Ie
B) aziedl goia &
C) qual e @

D) qugl aee &

63) Which of the following options is a renewable resource

and is derived from the heat within the interiors of the
earth?

A) Nuclear energy

B) Tidal energy

C) Hydrogen energy
D) Geothermal energy

63) @68 FRIQ 6REE IR AIIRRE CAIGY ARIF 26T 1e°
QEIR1a 2RNLAQ 2 ARITQ 1T 62RAN ?

A) 21999 98

)
B) gaia @
C) aesia 98
)

D) g-eqia 69

64) The Sun temple at Konark was built by which of the
following kings?

A
B

C
D

Rajandra Chola
Chandragupta
Narasimhadeva
Bindusara

—_— e e

64) GG AYS AR FIAT AR 69 AT T RGN G
qda 39 caingml ?

65) Which of the following is the longest line of latitude?

A
B
c
D

Temperate Zone
The Antarctic Circle
Equator

Tropic of Cancer

—

65) 59 60 98 63GE AFYI°GR AS0IQ V1S 69 26T ?

A) QIGa16RI8 28R
B) q67 99

C) Qge cal

D) agc 9@
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66) Who among the following was the leader of the
Indian Independence League formed primarily to obtain

Japanese support for the Indian Independence
Movement?

A) Rash Behari Bose
B) Mohan Singh

C) Chandrasekhar Azad
D) Taraknath Das

66) QUAGIE UGG CARFA IR €1olNe8 PITR QLIS MIW
ARI68 F67)I 664 620! AF2IQ G@GGGQQ e SI08 GRgeR ?

A) Qg Geial 6319,
B) sauge &°

C) og 6a51Q 2RI
D) cleeqia @1q

67) Which of the following is an example of exhaustible
natural resource?

A) Wind energy
B) Tidal power
C) Coal

D) Rainfall

67) G67)Ie 6a66 VUG AR6w AAQ ?

A) Qig, 68
B) gaie 43
C) exiami
D)gd aie

68) Who among the following announced the Partition of
Bengal in 19057

A) Lord Curzon
B) Lord Morley
C) Lord Dufferin
D) Lord Minto

WtsApp/Call- 8596976190

68) Geqli® AQ @4 1905 AARIEA AFF FRIFE CAIVE FAZeR
?

A) ag /8]
B) @ efIsa
C) ag eadq
D) ag @sal

69) Which of the following is the innermost layer of the
earth?

A) Hydrosphere
B) Mantle

C) Crust

D) Core

69) 92R1a AG0IQ AINISAE IAG '€ GRIAN ?

A) 681 T4Q
B) cuiaq

C) @8 / Qa4 2199€]
D) 6aiq / eagiEa

70) Which of the fallowing statements is CORRECT with
reference to the Parallels of Latitudes?

A) These are the vertical lines from the northern
hemisphere upto the poles

B) These are the circular lines from the equator upto the
poles

C) These are the circular lines from the southern
hemisphere upto the equator

D) These are the vertical lines from the northern
hemisphere upto the equator

70) GC6Q 0R 689G , ZAYIQ ANIBAIRG! AAGER A0} S
269 ?

A) 42l @9 6AIRIT 0IR 6ARYR A8 HNG W6 2l 6a%
Qe 266

B) 4g@e 3ge 606 0IQ 6719 28R Adie 291 6AINIRIR 6aS!
aqe
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C) ug@e QB4 69IRE Ol GgS 69¢l Adis gl 69NN
6Q8ll Q)L 26T

D) 4g@e @aa 6aIRIE OIf 399 Qs A06a AT Q16 Q!
6041l AL 26T

71) When did the Constitution of India come into effect?

A) 26th November 1949
B) 20th December 1945
C) 26th January 1950
D) 1st May 1950

71) QUNGQ AAUIG 669 QATIQIQN 62 ?

A) 26 qeaga 1949
B) 20 Geaqa 1945
C) 26 @iganal 1950
D) 1 6911950

72) Which of the following is a discretionary function of the
Panchayat?

A) Construction, maintenance and cleaning of drainage
system

B) Supply of drinking water to the villages

C) Organization, management and promotion of cottage
industries

D) Construction, maintenance of village roads and
provision of sanitation in the village

72) G6Q)I8 FRIQ 6RQE ABIAER FEIRIUG QI 26T ?

A) agsgaIR1a GelE , ARSIRRI 8l ACTR
B) 916 g@q Q1919 @9Q 6QIAIE
C) g91a J8Q AF0IRRI 92l 67IALE IR A°FOR

D) giv Qugl g@aa @i, 0aeIRal ¥e° gIf 98af Q4eaIR
26AIRR

WtsApp/Call- 8596976190

73) In a three-tier Panchayati Raj System the unit at the
village level is known as:

A) Gram Panchayat
B) Panchayat Samiti
C) Block Parishad
D) Gram Samiti

73) 6915 § 9919 IBIAe YEIRIER P S0 Inrg LA :

A) g5 asIae

B) asige 86

C) sc1a1 / 91 9Q|Q
D) gie1 @fig

74) In which of the following types of folds, due to
compressional forces that are relatively equal from both
sides, the angle of the limb is same on both sides?

A) Recumbent fold
B) Asymmetrical fold
C) Overturned fold
D) Symmetrical fold

74) 3¢ Ao QST GOR FRIQ GITI 6RLE 26T, AN & , AR

Q8@ A7 9GAIKa 10 6QI6S AGEE @geel 4 caig | Q1ga
618 AAIR 2?

A) 28 Q186 QI
B) aig@aq «uer
C) @rg e

D) gGaa auer

75) Which of the following gases is present in maximum
quantity in the atmosphere?

A) Oxygen

B) Carbon dioxide
C) Argon

D) Nitrogen
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75) 86 AYO 62@ 4IQ Q1Y FARER AR AFANSIER 21N ?

x>

) 2RISR

) ASIARIC),
) 2lIealie
)

LRI T

0

o O
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Section 8 - Paperll-Science

76) Which of the following is an example for kinetic

energy?

A) A rock to roll down hill
B) A pen that rolls off of your desk to fall onto the floor

C) A lock of your hair to fall to the floor after it has been

cut off
D) A baseball thrown by a pitcher

76) SIRYO FRIQ 626G 90% 939 IR AVIZAE ?

A) QI2Ieq G091q A9 98 929

B) 601G 609 991 602G 96 98 9F14 AU6q AGa
C) 991 6299 98 QILl ASIELF T6Q P6w VBAIG IS
D) Go @ OFQINAQ 1R 622N

77) Which of the following is CORRECT about amorphous
solids?

A) They have regular shape, sharp melting pointand are
anisotropic

B) They have irregular shape, sharp melting point and
are isotropic

C) They have irregular shape, melting point not fixed
and are isotropic

D) They have regular shape, melting point not fixed and
are anisotropic

77) 225910 @09 AQId C°AR6q G678 IR 626 A0 26T
?

A) G950 2IRIY, B1% IRFIE 99° AT

B) adadie 2iaia, 918 IRqIw 99° AAGNe,

C) 2308 219, JeaIF Gae Q6% 99° AANTHIL
D) Gafio 2IQI9, IRAIT Fae ged 19 QARG

78) Which of the following gases is a major portion of
biogas?

C) Ethane
D) Butane

78) RORYS FUIR 6990 QIEAIHIY 99 SISl ?

A) 691699
6

aQ
6aIq

(o]

)
) @
C) @
D) qyeeq

79) Which of the following is the absolute CORRECT
statement about 'liquids'?

) They have definite shape but no definite volume
B) They have a definite volume but no definite shape
) They have no definite volume and shape
) They have a definite shape and volume

79) '69% aW6a 6066 A°gd O] B 266 ?

A) aeie 68 aIRIe B8 @g G99 adaig QI
B) aieiq 5a@a adaig 28 @g 7aa 2IeQ Q17
C) arie faa QaeI€ 96° 2IRIQ Q1T
D) aipia 7aq 2IRIQ 96° OGS 0FF

80) Which of the following is NOT a function of plant root
system?

A) Helps in keeping the leaves to stay within the light
B) Storage of food and the nutrients
)
)

C) Providing the anchorage to the plant
D) Absorption of water and minerals from the soil

80) SARYS AU 696G 9F FF NLTIQ ALY 6L ?

A) Qeq ISR F1UEQ QYIEQ AIRIY KA
B) ¢ioy 8 c0I9e Qg I°a86 KA
C) 9ag §0l 6291 AIR ARIAS 629

A) Propane
B) Methane
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il T R

D) qI5Q 8% 6 98% 9 928 K09 83) 1eduIa 9e° Iedzia @ @09 29dl 624 dRlea @08

AR AQILAE 26T ?

81) Which of the following products is formed after A) Yaia 2geag @00 e ARG @09
reaction of quicklime with water?

B) 2¢-y91a 21g68s @0q Ie° 2195] @0

A) Limestone C) 2199 @05 & 2Inhe @09

Bl Slakediine D) Q@ Q6RI9e @0R 9e° 2IAG] @09
C) Gypsum
D) Fluorspar

84) Nucleus is pivotal part of the plant and animal cell and
. consists of large number of DNA. It has main role in:
81) Qléisa AAge AgEQ 9Egal J6a FORYe 684 QIRE aga

g9 A) Lipid synthesis only

B) Protein synthesis

A) geaee C) Cellular respiration

B) Qﬁlg@ D) Protein degradation only
C) Gaan o

D) eqie@aq

84) QUG 6208 9F B P19 69R A ¢J8l AT 6 YR 9F A°HYR
DNA 21 | 62Q2J6Q 9219 94 fAeI Q@8 2
82) For the host plants, availability of mycorrhiza has NO A) 6aer ndg Jerdq
use in which of the following? B P

) 6g15q derdq
A) It elevates the phosphorous uptake capacity C) srige1a 9aa
B) It increases its resistance to root pathogens D) 6req 691599 591704
C) It increases its drought tolerance

D) It helps in oxytocin secretion

85) Aleurone is a protein found in the protein granules of
. N . maturing seeds and tubers. Aleurone layer is the
82) 6Q18e Q@ digl, IRERAUDNRIA QAMBCSIQ PN E@REERQ

NLLIR I IR ? A) outermost layer of the endosperm

B) outermost layer of the endoderm
C) innermost layer of the endoderm
B) w2l 60a ai62I6eg 96 9Feae 8910Ig 98 Qald Binngfmostiayerofheendapssim

C) 9@ 1gG 92ad1ns 87815 98 @Al

A) 92| TATAL s S110Ig 9F QaId

D) @l 29160136 S966Q ALY K60 85) 2I6MREAIR 6208 9@ 69I5] QIZl 9f Q18 8 PISR6R Q!

69I5] 2816 214 | 2IERREAR AR 6208

83) Solid forms of HCI and NaCl are examples of which A) eaIafia Q12167 3Q
types of solids?

B) gegieda QI24e¢ 3Q
A) Polar molecular solids and lonic solids

B) Non-polar molecular solids and lonic solids D) w6a1ada 29999 24
C) Metallic solids and lonic solids

D) Covalent solids and lonic solids

C) 9681079 2806 99
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86) An oxidation reaction is a reaction in which

A) electron is gained and oxidation number is decreased
B) electron is lost and oxidation number is increased
C) electron is gained and oxidation number is increased
D) electron is lost and oxidation number is decreased

86) R10¢ 95T 6208 1@ 90RA Q08 6JR6a

A) QERERIN NN 99° QG AT QYA 99
B) a6Req ] 2191 9e° @I0d GAIF §F g9
C) aemeq ] MR ¥9° RI0d gAIF 9F 99
D) a6m6Q/Q 2181 99° G198 FAIS 214 99

87) A battery lights a bulb. Which of the following is the
CORRECT pattern of energy change involved in
this process?

A) Chemical energy - Electrical energy - Light energy -
Heat energy

B) Chemical energy - Electrical energy - Heat energy -
Light energy

C) Electrical energy - Light energy - Heat energy -
Chemical energy

D) Electrical energy - Chemical energy - Heat energy -
Light energy

87) 601" QUIETQN F1QI QAT 98 | I€ gGAIa FANYS 19
6096 68 feana A0 dIal ?

A) A9FR 68 - G4 93 - ZIEAIR 3 - AT 93

B) aiafe 68 - 3940 9@ - Q10 9@ - AR 98
C) 3940 63 - 2IRIR 43 - OIA 43 - AAINER 93
D) 3gie 68 - aQude 94 - Q10 94 - AR 98

88) From the given equation of motion v = u + at, what
does the 'U' represent?

A) final velocity
B) acceleration
C) initial velocity
D) mass

WtsApp/Call- 8596976190

88) 66 RU6R 9@R AAIRAE v = U + at, U 6Q6eY Q4Ia8 ?

A) 2@ adsad
B) qes

C) gladie atees
D) ega

89) Choose the appropriate statement, that holds good for
satellite in chromosome.

A) Itis a chromosome with a secondary constriction

B) It is a vesicle with microbodies that carries various
enzyme

C) It is a chromosome which helps in glucose synthesis
D) Itis a chromosome which helps in ATP synthesis

89) 6QIFILRINER AICERING A AL AINITF SR Q|

A) 30188 QR QI 99 65I6FIRE

B) w2l 6268 9@ 9ol 60026a AIREIed @88, aIel J6iR
NGPIRNG UG QYE

C) @l 62a8 9@ 6QI6AIRe A9 Jeaig d62Tq 60 QIRIY
Q6Q

D) g1 6298 19 6g160167 Q121 ATP d6adQ 60 ALY R6Q

90) Lactobacillus also commonly called as lactic acid
bacteria (LAB) grows in milk and converts it to

A) ghee
B) butter
C) curd

D) cheese

90) RIEQRIANG AIIG AIRESS ARR 1Gq UIERRI(LAB)
QUAIRAN, QAIY VIRER @AM G LG 6RUYER QAIBES
Qe ?

A) Ga
B) agan
C) o2

D) egq
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Question Paper No: . 47056_69

Answer Key

1. D 31.C 61.A
2. A 32.B 62.B
3. C 33.A 63.D TeC|’
4. C 34.B 64.C
5. C 35.A 65.C
6. C 36.C 66.A
7. D 37.B 67.C
8. C 38.C 68.A
9. D 39.C 69.D
10.D 40.C 70.B
11.D 41.A 71.C
12.A 42.D 72.C
13.A 43.C 73.A
14.B 44.A 74.D
156.C 45.B 75.D
16.A 46.B 76.D
17.A 47.A 77.C
18.D 48.B 78.B
19.B 49.B 79.B
20.A 50.D 80.A
21.D 51.B 81.B
22.C 52.B 82.D
23.A 53.C 83.A
24.D 54.D 84.B
25.D 55.C 85.A
26.A 56.D 86.B
27.A 57.A 87.B
28.C 58.C 88.C
29.C 59.C 89.A
30.B 60.B 90.C
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